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Directions : (For Q. 1 fo 6).

fdor:(wi1d6 & fw)

Part I / 9T 1

Aptitude Test / 31fusfa gdtaror

view, from amongst the answer figures.
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The 3-D problem figure shows an object. Identify, its correct top

3-D ¥¥7 Fla 7 @F awqg # fearm v &1 799 e S 5V,
I HiFaa § & v
Answer Figures | 3% SHTaa
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Problem Figure / 99 3l Answer Figures / FT Sgloaa

SUNSI p=al gl i

(1) {2) (3) 4)
% z’“\_'
K 1 .
4%
(1) (2) (3) (4)

Directions : (For Q. 7 and 8). Which one of the answer figures will complete the sequence of the
three problem figures ?

e : (W 7 ailvs & forg )1 W AHlTA H F FAG AP FH ol g srFEi F w
AT (sequence) T B @ ?
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PTTIITITRT e agermue dup. AT BAE proplem figures, A and B have certain relation. Identif:

which one of the answer figures, will have similar relation between
and 13 7

e : (% 9 sitt10 & fivm ) 7 SFITH A AR B T T fifyan @ #1 3w w0 5C s
TH FvT T, IO sl o 8 femd g 2

Problem Figures / T SiisEfaay Answer Figures / 307 g faar
EIED N e B DO
| (L\ I 2 | [ 9 (x| |78 |E
A B C D (1) (2) (3) (4)

cRFB? YRS

Directions ; (For Q. 11 to 13).  How nmany total number of parallelograms are there in fhe problen
figure given below ?

Feor: (w11 §13 % e ) T4 & T 77 sirgta & s Sy # 5o gy fead 80

Problem Figure / W97 i

N

(1)

(2) 15 (3) 13 4 16

.// .r"r f{; / z/
12. / /
K / x’/ ,f’f
(1) 18

(2} 19 3) 20 (4) 16
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Problem Figure / 397 gl
L _J ;
=7

13. ; ;E/jf’/;f;

1 12 (2) 10 (3) 15 4) 14

Directions : (For Q. 14). Which one of the answer figures, shows the correct view of the 3 - D prot
figure, after the figure is opened up ?

for:(m1s&fw)  3-p T SUFIT F1 Glert W, I Fr 7 @ HET gvT Fiar &7

Problem Figure [ Answer Figures | 30T SFfaar

(1) (2) (3) (4)

WHRMELIIONS § (FOF \J. 15 to 18).  Find the odd figure out in the problem figures given below

FEer: (715 @18 % fow )i ﬂ#ﬁnﬁmmﬁ%ﬁ#@mmm@

(2) (3) (4)
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16. / » < T
]
(1) (2) (3) (4)
) o

17. _ .T@ 6—/

(1) (2} 3) (4)
18, \D\} < T = A

1) 2) (31 )

Directions ; (For (0. 19 to 24). Find out the total number of surfaces of the object given below, in th

PRV (R19 024 % BI)1 797 Tl 7 et weq & aadl, 91 g7 e 717 T
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Problem Fiyure / W97 3T

n QX7

22,

S

23,

K,
O

24,

\{L

(1)

(1)

(1)

13

14

19

17

18

(2)

(2)

(2)

(2)

{2),

15

13

13

21

20

(3)

(3)

(3)

12

16

18

20

19

(4)

(%)

(4)

(4)

14

15

20

19

17

F/Page7

SPACE FOR ROUGH WORK / 7% T4 & fire s



Directions : (For Q. 25 to 30).  The 3-D problem figure shows an object. Identify the correct fromi
view, from amongst the answer figures, looking in the divection of

the -arrow.
Fa9T : (W.25 W30 & BT)1 3-D 597 a5fa o var aeg 7 fowrar 7y &1 i %1 fewn & 2@ 3G
559 T8 T § F I AFAT T G wEA
Problem Figure [ 5o STt Answer Figures / 07 aliFiaa
ol (1) ) (3) (4)

(1) (2) &) )

27,

H .
(1) (2) (3) (#)

- Y B Y Y 2

(1) (2) (3) (4)
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Problem Figure /| ¥¢7 3IFld Answer Figures / ST ST

~Ue [ [T 0] [by
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] [ ]
> B eH Bh
{ (

3) (4)

Directions : (For Q. 31 and 32).  The problem figure shows the top view of an object. Identify the
correct front view, from amongst the answer figures.

fager : (w31 sifr32 & fag )1 e smEla o faret ag T S0 g femr A B IO STl

# 7 TEl WG 599 VeI
Problem Figure / F¥7 3@l Answer Figures | 3T SFHiaa
EEEN B3 | ]
(1) (2) &) (4)
fﬁl‘
32. / \
(1) (2) (3) (4)
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Directions : (For Q. 33 and 34).  Which one of the answer figures is the correct mirror image of the
o problem figure with respect to X - X ?

fdr : (%33 3T 34 & fT )1 o giodl 5 & FiAE oMl & TF F99 MFH FK - X W T

g9 wiafa 87
Problem Figure | F¥7 3l Answer Figures | 0T gl

J X
33, \

2

- () 2
/ \ \ .
34,
/ j
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Directions : (For Q. 33). One of the following answer figures, is hidden in the problem figure, in the
samie size and direction. Select, which one is correct.

Fder:(w3s Ffw)r 95 78 o7 syzfoa & @ vF s 99 S v F wow w9 8 9v
sgla o fodt 1w Ot @t & g

Problem Figure / F97 3Ffd Answer Figures [ 367 3Tgfai

N
35. ;§§ T > < o>
e [ (1) (2) (3) (4)
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36.

37.

39!

40,

Heat gain in buildings is best resisted by :

(1} Exposed Roof
(2)  Cavity walls
(3)  Thin walls

(4) Large Windows

Escalators are used for :

(1)  Horizontal movement only

(2) Horizontal cum Verlical movement
(3)  Vertical movement only

(4)  None of the above

The colour of a well baked brick is

(1) Gray

(2)  Purple

(3)  Terracotta
(4)  Yellow

The windows in the west face of the
building, can be best protected from sun

rays by :

(1)  Vertical louvers
(2)  Roof projection
(3)  Projected Sill

(4) Horizontal chajjas

A house named ‘Antilla’ is recently built
in Mumbai for whom ?

(1) Mukesh Ambani
(2)  Anil Ambani

(3)  Lakshmi Mittal
(4 Ratan Tata

36,

37.

38,

39,

40,

wﬁﬁwmaﬁﬂﬁ%mﬁw
ﬁﬁﬂﬁﬁw,meafwzﬁa??

(1) ¥ EfE a9

(2} Tfe=n st

(3) Tae dan

(4) =g faglrar

W{W}mmmﬁm
%,

(1) %9 &few nfa & forg
(2)  #frst v e v ¥ forg
(3) et Sty W & fay
(4) mﬁ‘ﬁfﬂinﬁﬁ;m?ﬁ

St T v 7t 9z % o S v 27
(1) [ (gaw)

(2) <

(3) T (Terracotta)

(4)  dren

W&aﬂﬁaﬁﬁaﬁgﬁiﬁg{%ﬁﬁ,q&mﬁ
ﬁwﬁ@,ﬁwﬁf@aﬁﬁ,ﬂaﬁmm
AT W Fear -

(1) =< g et

(2) Wﬁﬁﬁgﬁ[&ujmd}aﬂ

(3) @R et € (Projected) Fiat

(4) &ftw oot '

gaﬁﬁ‘aﬁm'mwﬁeﬁ:hqw
TR

(1) Hw et

(2) & sfaHt

(3) wieHT fome

(4) Tz
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41.

42,

43,

44,

45.

The Dargah of Salim Chishti is located at :
(1)  Barra Imam Bara Lucknow

(2) Chaar Bagh

(3) Fatehpur Sikri

(4)  Red Fort Delhi

In which state of India is Hawa Mahal
located ?

(1) Rajasthan

(2) Maharashtra

(3)  Jammu and Kashmir

(4) Gujarat

Who amongst the following is a well
known Architect ?

(1} Hafeez Contractor
(2) Nari Contractor
(3)  Anjoli Ela Menon
(4) FE.D. Souza

Which one of the following is not a
malching set 7

(1)  New Delhi - Lutyens

(2) Stonehenge - Germany

(3)  Brasilia - Oscar Niemeyer

(4) Chandigarh - Corbusier

Winter Sun in the Northern Hemisphere
rises from :

(1) North of East

(2) South of East

(3)  South

(4) East

41.

42,

43,

44,

45,

Tty ot #1 27 Fel fem 27
(1) =% 39 1 TS
(2) =\RE

(3) HdEYY Hiwdt
(4) e fwen fomett

T o R T # e weet fegm £

(1) =g
(2) TErE

(3) 9 3l v
(4) TeE

Freafafeas 7 & wimr s anafag §7

(1) EHIS Fidwy
(2) T FHigaT
(3) et won g
(4) THEEL g

Frfafes 4 4w wu=m 3o - =m2

(1) % fawelt - Gfemm
(2) AT - T

(3) =t - amesT faie
(4) ﬂmwﬁﬁm

Tl vivened 3 Wi # g vl @ S S 2

1) HHExswa
(2) vE ¥ =fam &
(3) =fgma

(4) wa
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46.

47.

48,

49.

30.

Which one of the fDlI'DwLng, is known as
"Temple City” of India ?

(1) Nagpur
{2) Madurai
13}  Kanpur

i4) Ahmedabad

Which one of the following (ladding
material, is best suited for sound insulation
inside an auditorium ?

(1) Ceramic Tiles

(2)  Woollen Fabric

(3]  Timber Tiles

(4) Plywood

Whe amongst the following is famous but
has not designed any building ?

(1) TPable Piccasso

(2)  Buckminister Fuller

(3) Frank Lloyed Wright

(4) Gustav Eiffel

Texture is related to which one of the
following :

(1) Surface

(2) Weight

{3) Shape

{4) Form

Which one of the following metal is
generally used in the exterior cladding of
high rise buildings ?

{1} Platinum

(2} Aluminium

(3) Zinc

(4) Cast iron

46,

47.

48,

449,

a0,

FefafEs 4 9 w9 oy v’ 99 s
77

(1) =R

(2) TEwE

(3) HHR

(4) ITEHgERE

frafafaa & 4 S v s9fEn (Far =2t
TFAl A1) v, wvEa § wad sfus
=Y F faw vgm &7

(1) <1 =gl =1 2e

(2) AT FHE

(3) % & TEw

(4) TEREE

T | F1 vfag ¢ o s fadt sama &
fesmgw == faam 2

(1) e fos

{2) FHEFET Fol

(3) W wEs TR

(4) TEE SR

woAfr Freiferfiaa & A fad watua & -
(1) waE
2)  HR
(3) @R
(4) ®9

—

agHfe vl ®1 el wae # wifEm
(cladding) % e, Frefofas 7 9 wfism
FITH €19 FI WA H = e §

(1) wAfzm

(2) uefafw

(3) W (=)

(4) Tl @@
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Part II / ST 1
Mathematics / T

51. The walue of the determinant

VI3 +43 25 5

W15+426 5 10| isequalto:
3+465 V15 5

M 543(J6 - J5)

(@) 5(v6 -5)

(3)  J3(Je —5)

(4)  5J3(v6 -5)

52. If the sum of first n terms of two A.P.'s are
in the ratio 3n+8 : "Tn+15, then the ratio
of their 12% terms is
(1) 7:16
(2) 74:169
(3) 13:47
4 8:7

53. The value of
tan9® — tan27° — tanh3” + tan81” is :

1) 3

(2)
(3)
(4)

54. Each side of a square is increasing at the
uniform rate of 1 m/sec. If after some time

= O R

the area of the square is increasing at the
rate of 8 mz,f’ sec, then the area of square
at that time in sg. meters is :

(1 9

2) 16

(3) 25

(4) 4

51.

52,

53.

54.

arfors

JI3+43 25 5

VIS +426 5 J10| FEA Tl
3+v65 J15 5

1) 543(J6 - 5)
(2)  5(J6-5)

(3 v3(V6 - 5)
(4)  543(J6 —5)

afe o "Wial Afgdl ¥ 9uH n vE & 4 §
In+8:7n+15F & 9E 2, A FF 12 F
gi H #u §

(1) 7:16

(2) 74:169

(3) 13:47

() 8:7

tan®” — tan27" — tan63® + tand1”

FAFE:

(1 3

(2) 2

3 0

(4) 4

TF T H YEE 9 1 W/, F O T
o H 55 W R A T W % vvEw
gFE 83 HL/A. W I W, 9 3
g =1 W aAted, 9 Wi W,

(
(3) 25
(
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55.

56.

a7.

SR
The differential equation L} o "fll L
dx v

determines a family of circles with

(1)  wvariable radius and variable centre

(2) fixed radius and variable centre on
x-axis

(3) fixed radius and variable centre on
y-axis

(4) wvariable radius and fixed centre

The reflection point of the point (0, 3, -2)
i_nthelinel—;£=2 -y =z+1is

1 @14
2) (21,0
(3 ©01
@ @12 -1

Let f(x) =" —Bx+12, xe[2, 6].

Statement 1: f'(c)=0 for some ce(2, 6)
Statement 2 : f is continuous on [2, 6] and
differentiable on (2, 6), with f(2) =f(6).

(1) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(2) Statement 1 is true, Statement 2 is
false.

(3) Statement 1 is false, Statement 2 is
true.

(4) Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

—

2
55. ﬂ'ﬂﬁﬂ'ﬁ?{ﬂ%:ﬁﬂ;—y,qﬁ%@

56,

a7,

51 71 s et & Ford -
(1) FeamianmFzd=i

(2) TAfe=w e aem =2 g & o ewe o
4

(3) Ffe=a e =1 F3 & W yomm
4

(4) T = # aw 7 fafaa #)

50,3 —2) % m@m

T;:L‘ =2—y'—2+1ﬁ‘]ﬁlﬁﬁﬁﬁ‘§%:

M @14
() (21,0
3 ©01
® (12 -1

HA f(x)=x"—8r +12, xe[2, 6] %1
AT 1: T ce(2, 6) F o (o) =0 %)

AT 2: f, [2, 6] W WG & A9 (2, 6) W
HEFEAY & U £(2) =4(6) B |

(1) FUE19F %, T 299 & ; F47 2,
FUA 1 I el A0 T g
(2) YT 194 ¢, F97 2 909 ¥

(3) wu 1 aEE w2 WA &

(4) YT 1WA T, FUT 29E ¥ HUA 2,
FYT 1 FT T =
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58,

39,

Statement 1 : Point of intersection of the
tangents drawn to the parabola x2=43,r at
(4, 4) and (—4, 4) lies on the y-axis.

Statement 2 : Tangents drawn at the
extremities of the latus rectum of the
parabola x2=4ay intersect on the axis of
the parabola,

(1) " Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

(2) Statement 1 is true, Statement ? is
false.

(3) Statement 1 is false, Statement 2 is
true.

(4) Statement 1 is true, Statement ? is
true, Statement 2 is a correct
explanation for Statement 1.

M A i
If u, v and w are unit vectors

satisfying 24 +2p + 3w = 0 . then

{i—?z] equals :
5

W 2

@ >
5

@)
%

58. U 1: WA x* =4y F fagal (4, 4) wen

(—4, 4) 7 @it 7 oot e @1 whrsies
fag y-o7a 71 foop

BAT2: WAd P=day ¥ Tiuwa *
HAafag v @@=t 7 vl YEnd Twd vy 0
o et #)

(1) FMITAE T 299 § ;509 2,
FUA 1 T HWE = w9

(2) w159 §, F99 2 swm 1
(3) FH 137w E s 2um 2

(4) FUH 18 E T 2w E FY 2,
FYA 1 F1 TE e E |

AT u, v T w VR AAE whew
2u +20 + 3% = 0 F A= ¥ § @

[ﬁ—ﬁw%:
V5

iy =
o7

{2) 2 '
5

(3 1

e 4
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60. The number of 4 - digit numbers with | 60. ToT¥= =] a4 - &= %1 G, &1 ge=
distinct digits is ; %
(1) 4536 (1) 4536
(2) 4634 (2) 4634
(3) 5040 (3) 5040
(4) 504 (4) 504
61. If fx)=|x|+ [x=1], where [ -] is greatest | 61. a% f(x)=|x| +[x—1] B, 7l [ .| Tead TN=
integer function, then f(x) is : e T €, )
(1} continuous at x=0 but not at x=1. (1) x=0 T HOW F T x=1 T 2
(2) continuous at ¥=1 but not at x=0, (2) x=1T Had & W x=0"R 7 |
{3) neither continuous at x=0 nor at (3) AWx=0T T Tam T @ix=1mI
x=1.
{4) continuous at x=0 as well as at (4} x=0FMy=17TH T Haad ¥ |
x=1
62. If the line joining points A(2, 0) and | 62. =f% fagsf A(2, 0) 721 B(3, 1) 1 frem Fw
B(3, 1) is rotated about A in anti-clock wise T A % i amEd fam # 157 g9 S E
direction through an angle of 15° then the it ' = 72 frafy © wtEw ©
equation of line in new position is :
(1) Br+y=243 1) Bx+y=23
2 x+By=2 2) x+B3y=2
3) x—3y=2 () x-+By=2
4 PBr-y=2J3 4) Bxr-y=2J3
63. Ifafi=0,12..16) be real constants such | 63, 39 afi=0,1, 2, ... 16} TH Frafas 91
that for every real value of x, ¥ f& x % Ud® FEfas 49 F ’{'F‘E{
i1 +:r+3:2:|lg=aEJ +ax+ azx1+ i aléxm, (1+x +12}B=aﬂ +agrdamx 4. +a][T_1:l':'
L]
then as is equal to : %,?ﬁaEW'g:
(1) 504 (1) 504
(2) 506 (2) 506
(3) 508 (3) 508
(4) 502 (4) 502
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64,

a5,

LT

If a chord of a circle +°+ yz-—--} with one
extremity at (1, /3) subtends a right

angle at the centre of this circle, then the
coordinates of the other exiremity of this
chord can be :

1 (1, —3)
@ (-3, 1)
@) (3 -1)
@ (-1, 3)

The total number of injective mappings
from a set with m elements to a set with n
elements, for m > n, is :

m!
O
(3 =zero

m!
@) & (m —n_].'

Amongst the following functions, a
function that is differentiable at ¥ =0 js -

(1) cos(lx]) + |x
(2)  sin(l]) + |2
(3) sin(jx))— x|

cos(fx[) — [|

(4)

64. AR W x*+ =4 F uw e, forgm G

65.

66,

it f4ig (1, V3) & 99 ¥ %2 7 wyan

AT Falt &, W 39 ot % TH #hm fa
& FdniE @ wwa

1) (1, -3)

2 (=3, -1)

(3) (V3 1)

4 (-1, V3)

TF S0=9, fawd m g & H TF &g
q9=, a9 n agaa ¥ (m > n) ¥ wHst
giafeamif =1 T 2 .

m!
(1) (m —n)!
(3) =
m!
(#  Wm—ny

ﬁﬁﬁﬁﬁﬁﬁﬁﬁ@ﬁ'&'ﬁ??ﬁx=ﬂm
m'—ﬁ'ﬂ%%

(1)
(2)
(3)

(4)  cos{lx])— x|

cos(|x]) +x|
sin(|x() + (x|

sin(|af) — x|
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67.

68,

=17
2

Let L be the line x —4=y—-2= and

P be the plane 2x —dy+z=7,

Statement 1: The line L lies in the plane

P

Statement 2 : The direction ratios of the

line L are I, =1, m,=1, n;=2 and that of

normal to the plane P are [,=2, m,=—4,

ny=1, and [}, +mym,; +nyny,=0 haolds.

{1} Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

{2) Statement 1 is true, Statement 2 is
false.

(3) Statement 1 is false, Statement 2 is
true,

(4) Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

Statement 1 : Consider the statements

p : Delhi is in India

g : Mumbai is not in Italy.

Then the negation of statement p v q, is

‘Delhi is not in India and Mumbai is in

Italy’.

Statement 2 : For any two statements p

and g

~pva)=—pv-q

(1) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

{2) Statement 1 is true, Statement 2 is
false.

(3) Statement 1 is false, Staterment 2 is
true.

(4) Statement 1 is true, Statement 2 is

Statement 2 is a correct

explanation for Statement 1.

true,

67,

68,

z—7

WA L IW x—d4=y—2= g AP

TATA 2x —dy+2=7 ¥|
HAT1: T Lu9aE P H fiag &

HUA 2 @ L F o SO L =1, m =1,

n,=2 % T4 "waw P % sfudw &

feg aqua [,=2, m,= -4, n,=1, ¥ 70

£112+m1m2+n]n2=9m%ﬁﬁ1 2l

(1) 97 19@E ¢, $97 294 & ;597 2,
FUT 1 F] W R A E

(2) YT 1T T, F 2 95 T
(3) FU91AFAE, FY92FA &

(49) FTFRI1THE FH 299 & ;F97 2,
FU9 1 F1 FE = B

HYA 1 : Tr=fafEy 99 W f99n sifan)
P:ﬁt'_("ﬁ Wﬁ%l

q:ﬂ:ﬁﬁﬁa}ﬁﬁ%!

A FIT p v q 1 Ty wye @ faeed aia o
el & qur gad gl 6 &)

w2 [ 9 T p 791 q F oy
~pvq=-pv—q

(1) s 1daE s 293 & ;%99 2,
FUA 1w WL = A L

(2) Fu19F E, FYF 2 A
(3) FUF 10 T, FUA 2T B

(1) FH19HE FUH2HFA ¢ ;FI 2,
FY | 1 HE S
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69. The tangent to ellipse 3x%+ Iﬁy2=12, at

70.

71.

' 3
the point (1, 4—], intersects the curve
W +x=0at :

(1) exactly one point

A2)  two distinet roints

(3)  more than two points

(1) no point

Twa circles in complex plane are

C] : |Z_i:ll=2
Cy % [Z-1=2=4 Then

(1) C, and C, intersect at two distinct
points,

(2)  C lies within C,.
(3)  C, lies within C,.

(4) €, and C, touch each other.

b
Let A= [a dJ' be a 2% 2 matrix where
C

a, b, ¢, d take the values 0 or 1 only. The
number of such matrices which have

inverses is :
(1) 7

2 A

(4) 8

69. =T 327+ 16y% =12 ¥ farg

70.

71.

h ;]maﬁm‘mm T P xm
Hi Fredt §

(1) %aa u= fag 7

(2) = fafvm faga o

(3) = F aferm faged w

(4) T+ fag 5 =74

Cr:|Z—il=27%

Cy: 12 -1-2i| =4, Hfas wwee ¥ 31 3w ¢

(1) C, 7& C, = fafim fegail w s
Fd €|

(2) €, C,% o= fourm &
(3) C,C,% 3=y fem #
(4)  C,30 C, Trrw Wy F
[a b i
A a=LC d]ﬁzxzmgﬁﬁm

a by ¢, d ¥ W ¥ 0 519911 | U 3oqg]
it W o o ¥ % .

4) 8
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73

73.

Leta, b,ceR, a>0 and functionf: R =+ R
be defined by f(:r}=axz+bx+c.

Statement 1: b < 4 ac = f(x) > 0, for

every value of x.

Statement 2 : f{ is strictly decreasing in the

interval [— o, ;—b] and strictly increasing
a

2a

(1) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

2 . (—b
in the interval l— s dl

(2} Statement 1 is true, Statement 2 is
false.

(3) Statement 1 is false, Statement 2 is
frue.

(4) Statement 1 is true, Statement 2 is
true, Statement 2 is a correct
explanation for Statement 1.

A class consists of 80 students, 25 of them
are girls. If 10 of the students are rich and
20 of the students are fair complexioned,
then the probability of selecting a fair
complexioned rich girl from the class
{assuming three traits as independent) is :

3 57

{4) 10

72. AMla bceR a>08do Fe"f:R—> R,

73

f(x) =ax® + bx + ¢ EA1 Tl %,

FAT1: b’ < 4ac = f{x) > 0, x F Tt wH
& fau | '
FAT2: faﬁ‘mﬁ[_ ., %’]ﬁﬁiﬁtwﬁ

i
%ﬁmmkz—:,mjﬁﬁvmawt

(1) F99 199 ¢, F94 2993 & ; 797 2,
Foq 1 FI TEl == AR 6

(2) FUA1HH E, w2 e ¥
(3) FUT 1 HEA F, T2 EA

(4) FERI1TTE FH 2T T FUA 2,
U 1 F TE T #

wF Fan § 80 foranelf ¥ fad & 25 v £
77 10 Taenet st & wen 20 faameff Hiwedf &
£ o wen § U fa w9 8 g1 A e
F1 wiigEa (78 9 50 f @ v
oA d) ¥
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74. Using the fact that
0sf(x) sg@x)c<x<d=

d d
_ If{x]dx = Ig[x}d:r, we can conclude
c [

3

that IMS + ¥ dx lies in the interval :
1

(1 (2, 30)

75. The sum of n terms of the series

@ B 4

@ 3e"-1)

(4)

2z —n-—E

74, TH\O=f{x)=g(x) c<x<d=

75.

d d
Jf(x)dx < [glx)dx, F w3 4 77 =

. —
ﬁﬁﬁﬁﬁmam%’r?:_[»f3+x3 dx oz
1

Hw A frum & T

(1) (2, V30)

@ (37)

(3 (4,2430)

o 3]

st
%+:::+§+%+,,.amammn%;

-

= 7 & e

@ n*2 " ~1

] n
(3) @7 -1)

—n-=

) z
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76.

i

78.

2 2
lim lll+ B gl sp o

n—x I n?+1> n®+2%
lf'l2 . b
53 | is equal to:
n? + (n-107° 1
T
1 3
i3
@ 3
o
™
@

If the mean of a set of observations
Xir X3, v Xy is 20 then the mean of
X, +4, x5+8, x3+12, ..., xyp+40 is

1 42

(2) 38
(3) 40
(4) 34
The integral I dx =l equals :
(a2 —b2 2V
x
(1) i, 1) S +G
i 1
(2) \;az — 232
1
(3) _ _ + C
aZvyal — bzt
x
o =

76.

77.

78.

2 D
N n
lim l{l gz + + ..+

n-s@ M ol 1 B L o
2
n
——= | L e
n2+(n—ﬂzJ ¥
7
m 3
k ™
@ 3
o
™
® 3

AT WEOT xy, Xy o Xy FOHTEA WA

20 %, @ xy+4, x+8, 13 +12, ., xy+40

1) 42
2 38
(3) 40
) 34
A j' ox 7 T E
(a2 —p2a?)?
: i
1 g 75 e e
ax
2y ———+C
@) \Jaz —blx2
I 1
@) ————=+C
azval ~b?x?
X
e 1S
@ aZ —b2x?
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79.

80,

(2)

If my and m, are the roots of the equation

*+(f3+2)r+V3-1=0, then the
area of the triangle formed by the lines
Y=y, ¥= —mex and y=1 is

1(43 +2]

T Y

—~3+2)
k "'IE_J'J

(=3 + 2]
B S o
3 +1

| N

=

(3)

(4)

(V3 +2
(V3 -1

Bd |

If a and b are two vectors such that
- -3 = —» =3 =}

2a+b=¢ and a +2b = e,, where
E —

e; =(1,11) and e, =(1,1,-1), then

. —+ -+
the angle between the vectors a and b

i A ¥ 3

@ s (74))
cos™! (—%)
cos™ (7)

(3)

(4)

~-olo-

79,

80.

ﬁmlﬁmmz'@:ﬂw
P +(Br2)r+B-1=0%mE

Fecifil y=myx, = —myx GE y=1 H s
s =1 dewe &

1{ =3 +2)
(2) E_JE—'IJ

=343
(3) E(ﬁ+1]

1(v3 +2
) E[\F—J

A admb AWERAERF 22 + b =,
Ta+2b=c, e =(1,1,1) 3¢

& = (L1, -1)E & 2 aM b F S w =r
¥,

(1)
2)
@)
() cos(74)
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